NGC 6144
Dg,,=8900 pc -4
2 = 2
Red. x? (vel. only)=0.09 %,D 6
M.=(5.27+1.91)-10% M, B
-8
M/L=1.12+0.44 ~ 02
R,=6.04 pc, R,=1.89 pc € 0
oy —0.2
MF' Slope=-0.03 ;5" 04
?4 L I IIIIIII I IIIIIIII I LI ?4
v - - )
N 1 X
ESF 1 g3
~ N . ~
I_.‘ 2 - l_' 2
Q. n ] Q.
24k 1 2
o 1 PM 4 =1
Emi: - ::::::E S0
= 05 F 4 : 05
> C 1>
l, OF-——7——-————~— {____: . 0
>_05 | 3> -05
_1 - 1 1 IIIIIII 1 1 IIIIIII 1 1 Illlll- _1
10 100 103

Radius [arcsec]

Radius [pc]

0.1 1 10
i LI ||||||I LI ||||||I LI ||||||I LI |_|
i L\
-I IIIIIII III-
E|-||||||I ||1E
-l_IIIIIII 1 |||||||I 1 |||||||I 1 |||||||I—_
1 10 100 103
Radius [arcsec]
: I I ||||||| I I ||||||| I I ||||||:
-
: 1 1 IIIIIII 1 1 IIIIIII 1 1 IIIIII:
: 1 1 ||||||| 1 1 ||||||| 1 1 |||||]__
3 ! E
E 1 1 IIIIIII 1 1 IIIIIII 1 1 IIIIII:-
10 100 103

Radius [arcsec]



